Grade 7 FE1F 4k

1. EYEREANEREFEE » The most fundamental characteristic of living organisms is
a. % JE Reproduction b. ¥ PE X & Metabolism c. £ & Growth d. 3 &) Movement

2. T HIRLE A RE 2 8 & MOE DAY IF 5Z ? Which of the following may be benefits of regular exercise?
(1) #B5& B BEAN Strengthening skeletal muscles
(2) BN M0 ;% K% & E Increasing oxygen-carrying capacity of the blood
(3) Y20 B 38 £ 3 E HH = FE I BEE] Increasing the body's response time to stimuli
a. (1) (2) b. (1) (3) c. (2)(3) d. (1) (2) (3)

3. THEEFERIEEESEME » Among the following changes, which one is a chemical change?
a. “Bz 7k” 5. ZE Sublimation of dry ice b. BRRIESE Tire explosion
c. 4§ Rusting of iron d. e @ER IS Light bulb lighting up

4. fERMBR E BOKfERE MEREREEMNZE
Which of the following measures is the most reasonable solution to address the "freshwater crisis" on Earth?
a. AR ERIREME B /KXIE Economically desalinating seawater
b. ZEB/KFRAR H Allowing seawater to flow into rivers
c. #87KJIIiA1E Melting glaciers

d. D8 JK Drinking less water




5. FTHIBEERZRERNAF, MLIERE?
Which of the following statements about nuclear power plants are correct?
(1) ERERBESN, REHEGRRFEAMIRIE .,
If an accident occurs in a nuclear power plant, the reactor will explode like an atomic bomb.
(2) R IEH D RBHMRMEERTERRBMTESN
Used fuel rods in a nuclear reactor remain radioactive for thousands of years.
B) EEERET, RERPFHAAAKTHEN .
Under normal operation, cooling water discharged from a nuclear power plant contains radiation.

a. (1) b. (2) c. (1)(3) d. (2) (3)

Answers: 1.b 2.d 3.c 4.a 5.d

Grade 8 FE 24}
1. —RAEEHINERL EAGIAA o
A beam of light perpendicular to a mirror has an angle of incidence of

a.0° b. 90° c. 45° d. KL EZEH AT None of the above

2. NERERIZETMNHRGZ o
The conditions for the ear to hear sound are
a. B9 & The presence of a medium
b. % Zf&The presence of a sound source
c. B E R M HE 4 The presence of a sound source and an ear

d. B2, M EFEH HThe presence of a sound source, a medium, and an ear



3. R3+BEFRINAIEEF MEZAMNEFHS o

If an R3+ ion has 10 electrons outside its nucleus, then the number of protons inside its nucleus is

a. 8 b. 10 c. 13 d. #E;£HE E Non defined
4, FEBEANFHRALDKESMEMNDL A FEEHREFFFLL, LEEFN NGRS SE

If a force of 6N is applied on each side of a spring balance in the horizontal direction, and the system is in equilibrium,
then the reading on the spring balance is

a.0ON b.3N c.6N d.12N
5. RBEPERE—H BT BAFEAREL, ERETEIE 0
Pregnancy refers to the implantation of a "seed" into the uterine endometrium. This "seed" refers to
a. & R Fetus b. I£;& Blastocyst c. BR& Embryo d. Z¥& 0l Fertilized egg
';.)._
» ¥
Answers: 1.a 2.d 3.c 4.d 5.d

Grade 9 I E3F R
1. TRESETHENARERERZ Y
The essential difference between an element and an oxygen element is
a. B FE A [ Different number of protons
b. & FE( A [ Different number of electrons
c. [RF#% 2 A [ Different number of atomic nuclei

d.BIEHIESE, BETH AT Former carries a positive charge, latter carries a negative charge

2. FATIMEMMETAILENNZE
The simple machine that does not provide mechanical advantage is
a. ¥L#F Lever b. 7 ;& & Fixed pulley

c. E1;8# Movable pulley d. ;&#m#H Pulley system



3. HAERETHMEERF, HERBBTTIDE, FREAREBEMRENE o

The substance that cannot be removed using dilute hydrochloric acid from the residue in the test-tube after
completing the experiment is

a. BB A RKZ B T AR EfREThe white solid left after adding limewater.
b. 518 4 5154714 BB T BIATAR & E FEThe reddish-brown solid left after adding a rusted iron nail.
c AERERELHERRETHN—BEEH

The layer of metallic copper left after the experiment of reducing copper oxide with hydrogen gas.
d. B ERESLMIRRERETHERMELRS

The blue solid left after the reaction of copper sulfate solution with sodium hydroxide solution.

4. BARFIR{E A RARI AR 2 o
The organelle associated with respiration is
a. ¥ #5382 Ribosomes b. & A2 Golgi apparatus
c. 88 Plasmids d. ¥#2 HIE8 Mitochondria

5. BEMEIZEMEEZIRGMEBI YA ARE?
The echo-location feature of radar is modeled after the ability of which animal?

a. B & Frog b. R4S Bat c. & Bird d. B2 &% Locust

Answers: 1.a 2.b 3.c 4.d 5.b



